ITEM #|QTY | NEWMAR # DESCRIPTION
1 1 121568 SINK KIT UNDERMOUNT SS ELKAY (28 5/8x19)
2 | J570 | 124108 [ALL ELECTRIC INDUCTION COOKTOP (S2F3)
’**ﬂ':***************************************_ﬁ ************************** 1

UNIT: # 801203

A —
S e e
/ /SOAP DISPENSER

,,,,,,,,,,,,,,,,,,

21 1/4

p — DENOTES A FINISHED EDGE
CNC NOTE: SHADED EDGE DENOTES 1/4" DP RECESS

1/2" THICKNESS
SEE TYPICAL PRINTS FOR EDGE AND RANGE APPLICATION

DEALER: Guaranty RV

SPECIAL: # 1093

PLEASE ACKNOWLEDGE AND DATE THE
FOLLOWING ORDER/PRINT FOR APPROVAL
TO BUILD, AND FAX TO NEWMAR (AT
574-773-2895) AS SOON AS POSSIBLE
DATE:

SIGN:

TOP/TRIM PIECES/OVERLAPS

NEWMAR CORP Model: <J570> Sheet Drawn by: Checked by: | Revision: »
P.0. Box 30, EX DP 4553 1 OF & /. R. A. M. Date:
Nappuali::, ”{11(\;_';6550 Title: I.D. # 2016\ Date: Date: Revision: By:
: SPECIALS\MOT
e 177 1/2 KITCHEN COSIMOT™N12,/30/15] 1/4/16 o




ITEM #| OPTION

NEWMAR #

DESCRIPTION

1 J720 125682

MICROWAVE GE 30" ADVANTIUM (PSA9102SFSS)

PLEASE ACKNOWLEDGE AND DATE THE
FOLLOWING ORDER/PRINT FOR APPROVAL
TO BUILD, AND FAX TO NEWMAR (AT
574-773-2895) AS SOON AS POSSIBLE
DATE:

SIGN:

N i i @ FALSE TOP |
(A) | | = 3
' . . nimsl
- OMIT SHELF—_|| ., || ® ©
16\ :8 :B v o
E= 20 G ® ® e :‘é O
A - | I J \
® @) = == 3
. -8 3/4 s /4 !
o> 112
1 1/4-—~ -2 1/4
~ 5 1/4
| g 3/4
VIEW (G)
UNIT: # 801203
DEALER: Guaranty RV
SPECIAL: # 1093 OHC PLAN
NEWMAR CORP | Model: <J720> Sheet Drawn by: Checked by: [ Revision: By:
P.0. Box 30, EX DP 4553 2 OF 3 Z. R A. M. Date:
Nappuajf:’ Iﬁ;’H ;6550 Title: ID. # 2016\ | Date: Date: Revision: By,
: SPECIALS\MOT
e 177 1/2 KITCHEN COSIMOT™N12,/30/15] 1/4/16 .




KG DB BACKSPLASH TILE

PLEASE ACKNOWLEDGE AND DATE THE
FOLLOWING ORDER/PRINT FOR APPROVAL
TO BUILD, AND FAX TO NEWMAR (AT
574-773-2895) AS SOON AS POSSIBLE
DATE:

SIGN:
_ 3/4-APPL.
GARAGE O’LAP
1/2— 54 7/8 -—1/2
1/8
| CLR.
© 15 7/16
> solip A A
1n SURFACE
- L B
EQ.— | 48 1/16 -—EQ. (+3/4)
56 5/8

DRILL 3/8" DIA. WIRE HOLE
AT EACH END OF LIGHT CAVITY

A-A

UNIT: # 801203
DEALER: Guaranty RV
SPECIAL: # 1093

SHADED DENOTES 3/8"
RECESS FOR TILE INLAY

NEWMAR CORP | Model:
P.0. Box 30, EX DP 4553

Nappanee, IN. 46550

UNITS: INCHES 77 1/2 KITCHEN

TITLE BLOCK——735TB

Sheet Drawn by: Checked by: [ Revision: By:
3 OF 3 Z F\) A M Date:
Title: I.D. # 2016\ | Date: Date: Revision: By:
SPECIALS\MOT
TogsRTo ) 12/30/15] 1/4/16 Date:




ITEM #

QTY

NEWMAR #

DESCRIPTION

114538

BOWL GEMSTONE LAY 16X13 BONE (N1613-VO0)

51 7/8

PLEASE ACKNOWLEDGE AND DATE THE
FOLLOWING ORDER/PRINT FOR APPROVAL
TO BUILD, AND FAX TO NEWMAR (AT
574-773-2895) AS SOON AS POSSIBLE
DATE:

1/2—|» 50 3/8—SPLASH SIGN:
EX DP STOOL
ROOM FAUCETS | /2
0 N5 N
~ 7 5 > N
0 _ 7 ~
o NO N
|
COUNTERTOP
» — DENOTES A FINISHED EDGE
CNC NOTE: SHADED EDGE
1/4” DP RECESS
UNIT: # 801203
DEALER: Guaranty RV
SPECIAL: # 1093
NEWMAR CORP | Model: Sheet Drawn by: Checked by: | Revision: By:
P.0. Box 30, EX DP 4553 1 OF 1 L. R. A. M. Date:
Nappanee, IN. 46550 | I.D. # 2016\ | Date: Date: Revision: By:
e sooc 5| LAV BASE & TOP SPECBSSNOTN 12/30/15| 1/4/16 e




ITEM #|QTY | NEWMAR # DESCRIPTION ]
3 1 130320 MANUAL SHADE 60x31 BEIGE W —
4 1 130321 MANUAL SHADE 60x31 BLACK E = < L_',J
L 8 — o
FoXon
<o <on
Q<=0
nNr<so
Z O W N
(T
< - Z <
=0z
bges
o & <O
<o
S Who
08 An<
T 0 —— | SEZ 2
o i i L] cOZw
N ! | | ! o 090 -
1 | | ! ! | | } <Z0OWN
o 1 | S w==owv
| | I | | | | | o~ L
o | | | 29%9a~Nuz
o] J HooN<©
| i | — | ALFwLA®
1 NS I N 4 1 v ]
— e —
UNIT: # 801203 o o o o o S
DEALER: Guaranty RV
SPECIAL: # 1093
NEWMAR CORP Model: Sheet Drawn by: Checked by: [ Revision: By:
P.0. Box 30, EX DP 4533 1 OF 2 /. R A. M. Date:
Nappanee, IN. 46550 | Title: I.D. # 2016\ Date: Date: Revision: By:
WINDOW BOX W./ y
Title block——75TB SLIDING COVER ?%%Czi@vﬁ\_%%? 12/30/15) 1/4/16 Date:




ITEM #|QTY | NEWMAR # DESCRIPTION
1 1 SPECIAL WINDOW BOX ((MAPLE)) PLEASE ACKNOWLEDGE AND DATE THE (ENLARGED 4X)
2 1 SPECIAL WINDOW BOX (CHERRY
3 > 5183 778 CHRYSALS — SILVER SAINE FOLLOWING ORDER/PRINT FOR APPROVAL
TO BUILD, AND FAX TO NEWMAR (AT TEPICAL WALL SAF
574-773-2895) AS SOON AS POSSIBLE CUT TO L—SHAPE
DATE:
SIGN: N
11/2— |~
) i
| Y | 3/8 4
32 1/4 !_| !,,,,,,,,,,,,,,,,,,,,,,,,,,J,,,,'L 77777777777777777777777777 ! 18 E :_ T ¥ 4
f '3/4_f ~||—3/8 11/234 51 3/8—|L- T i S
1/4 RAD. @ TOP s1/2— | 66°1/2 L |
FRONT & BACK 77172 — 3/
11/2 TOP VIEW 3/8 A
A= \ B— Cc— £11/2 l f
— | — | i e N W N VL NOTE: TvP
35/8 | || INSERT] | ||INSERT, | | 3 5/8 LINSERT || | 3/8x1/4 DP
Fzi/4| A | Tz ]| | RABBET I
| | ] B ! | I VERTICAL & -
2 11 || INSERT| - |INSERT] | | | INSERT || 1| 2% HORIZONTAL
I B | Lol a IDOOR STOP ol . I — e, |
(IEINVZ3 [ S —— W S CTR'D EVZ] N e— owanall’
3s/8 | || |[INSERT| .y ||| INSERT, | . ' 3sse | | | INSERT ||| | :_'r’ 3/8
1T S E— I A S VA A I —— ] RV 3
1 34 A~ |‘ f B— c- 3/16 1.3/4] ' - E
—||l—9/16 —12 1/4—~| |—2 1/4 2 1/4— |—12 1/4—] | — | i i o
1 3/4—~ ~ 15 5/8 | |—1 3/4 —I5 1/2l—14 1/2 37 1/2 14 1/2 5 1/2—
19 1/8 FRONT VIEW —
FRONT VIEW _ _ . .
booR | , B-B C-C
(LT/RT REQ'D) ‘ 2 l L (ENLARGED 2X)
1/ ‘;RFS/EE%. 8@? BB/SCT;OM 41/4 1 41/ 1 NTYPICAL WALL CAP PLASTIC
. Po—i2 7/8 —| |[~—12 7/8—] by 16 1/4 | | 16 1/4 | U—-CHNL CUT TO L—-SHAPE
UNIT: # 801203 ENLARGED 4X LT/RT REQD
DEALER: Guaranty RV CHRYSALIS f120163  CHRYSALIS 120183 ( ) (LI/RT REQD)
SPECIAL: # 1093 CABINET FRONT SLIDING DOORS
NEWMAR CORP | Mode: Sheet Drawn by: Checked by: [ Revision: By:
P.0. Box 30, EX DP 4353 2 OF 2 /. R A. M. Dote:
Nappanee, IN. 46550 | Title: I.D. # 2016\ Date: Date: Revision: By:
WINDOW BOX W./ y
Title block——75TB SLIDING COVER ?%%Czi@vﬁ\_%%? 12/30/15) 1/4/16 Date:




ITEM #|QTY | NEWMAR # DESCRIPTION
1 — 129183 1/8 CHRYSALIS — SILVER SHINE
2 — 117545 1/8" ABS—BLACK

2016 KG DB WARDROBE DOORS

PLEASE ACKNOWLEDGE AND DATE THE
FOLLOWING ORDER/PRINT FOR APPROVAL

TO BUILD, AND FAX TO NEWMAR (AT
574-773-2895) AS SOON AS POSSIBLE

31/4

[N

DATE: —
. w)
C— | SIGN: o2
] 3174 28 3/8-(1/8" ABS) g
| o il o 213/16 - 12 13/16 N T
| (CHRYSALIS)‘ A‘(CHRYSALIS)‘ =
+ I ] H + 20 - ' ' —] -
: | | Ve 7 7 7 v —{
D . | D 5 174 3 1/4—] 5 14| 27/8 @
| Il I 2
8 () H R 2 7/8 - [ .
| K ! NS oo 3/4— D-D 13 <
! N o1 a/2m > 1/4T—F (ENLARGED 5X) 1,2, (CHRYSALIS)
| ] 1| 3 @ 1/8 }— 1/8 |~ B +
F:::::::j ﬁ::::::fj‘ 2 i/8 0 3/8—‘“4— 3/8— }‘ | >
i AT Ty 2 e 3
[ o <
! . ! 20 124 ) —_—_ .
| : | :
L — — N
] 3 1/4 —! TYPICAL PERIMETER RAILS INTERIOR VERTICAL RAIL < EIE
| C— * 28 14— 12 S
31/4—] | o nas T e[~ (ENLARGED 5X)
11 5/16— . I 3/8__“__ |
- - 11 5/16 > ‘ i
31/4— 257/8—— |3 1/4 12 s ° I_3/4 1 3 1/4
32 3/8 N P2 N
SLIDING DOOR J J ‘\" '_
UNIT: # 801203 (2) REQD 12 1116 - ] 12 1116 c-C
DEALER: Guaranty RV 1/8” CHRYSALIS INSERT 4 /8" CHRYSALIS INSERT TYPICAL INTERIOR/
SPECIAL: # 1093 (2-REQ'D PER DOOR)  (4—_REQ'D PER DOOR) HORIZONTAL RAILS (ENLARGED 5X)
NEWMAR CORP | Model: Sheet Drawn by: Checked by: | Revision: By:
N P.0. BOIX]'V3Z,6550 EX DP 4553 1 OF 1 /. R. A. M. Date:
appanee, - Title: I.D. # 2016\ | Date: Date: Revision: -~
: REAR WARDROBE y:
T SLIDING DOORS PO ™N 12/30/15] 1/4/16 bote:




	1093KT
	1093LV
	1093WIN_BOX
	1093WR

